

Research Article

f_q -Derivations of G -Algebra

Deena Al-Kadi

Department of Mathematics and Statistic, Faculty of Science, Taif University, P.O. Box 888, Taif 21974, Saudi Arabia

Correspondence should be addressed to Deena Al-Kadi; dak12le@hotmail.co.uk

Received 4 January 2016; Revised 14 February 2016; Accepted 15 March 2016

Academic Editor: Ilya M. Spitkovsky

Copyright © 2016 Deena Al-Kadi. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

We introduce the notion of f_q -derivation as a new derivation of G -algebra. For an endomorphism map f of any G -algebra X , we show that at least one f_q -derivation of X exists. Moreover, for such a map, we show that a self-map d_q^f of X is f_q -derivation of X if X is an associative medial G -algebra. For a medial G -algebra X , d_q^f is f_q -derivation of X if d_q^f is an outside f_q -derivation of X . Finally, we show that if f is the identity endomorphism of X then the composition of two f_q -derivations of X is a f_q -derivation. Moreover, we give a condition to get a commutative composition.

1. Introduction

Derivation is an important area of research in the theory of algebraic structure in mathematics. The theory of derivations of algebraic structures came from the development of Galois theory and the theory of invariants. Many researches have been done on derivations on different algebras (see [1–4]).

Several authors [5–9] have studied derivations in BCI -algebra after the work done in 2004 by Jun and Xin where the notion of derivation in ring and near-ring theory was applied to BCI -algebra [4]. As in [5], for a self-map d , for any algebra X , d is a left-right derivation (briefly (l, r) -derivation) of X if it satisfies the identity $d(x * y) = (d(x) * y) \wedge (x * d(y))$ for all $x, y \in X$. If d satisfies the identity $d(x * y) = (x * d(y)) \wedge (d(x) * y)$ for all $x, y \in X$, then d is a right-left derivation (briefly (r, l) -derivation) of X . If d is both (l, r) - and (r, l) -derivation, then d is a derivation of X .

Recently, in 2013, a new derivation named f_q -derivation of BCI -algebras was introduced. That is, in general, for any self-map d_q^f of an algebra X , f_q -derivation of X is defined by $d_q^f(x) = f(x) * q$ for all x and $q \in X$. The map d_q^f is called an outside f_q -derivation of X if it satisfies $d_q^f(x * y) = (f(x) * d_q^f(y)) \wedge (d_q^f(x) * f(y))$, $\forall x, y \in X$. If the map d_q^f satisfies the identity $d_q^f(x * y) = (d_q^f(x) * f(y)) \wedge (f(x) * d_q^f(y))$, $\forall x, y \in X$, then the map d_q^f is called an inside f_q -derivation of X . If

d_q^f is both outside and inside f_q -derivation of X , then it is a f_q -derivation of X ([10]).

The notion of G -algebra was introduced in [11]. The aim of the paper is to complete the studies on G -algebra; in particular, we aim to apply the notion of f_q -derivation on G -algebra and obtain some related properties. We start with definitions and propositions on G -algebra taken from [11]. Then, we redefine the notion of f_q -derivation in G -algebra and prove that every self-map d_q^f of an associative, medial G -algebra is f_q -derivation, where f is an endomorphism of X . We also show that every self-map d_q^f of an associative, medial G -algebra is f_q -derivation. Then, we show that if f is the identity endomorphism of X , then, for a medial G -algebra, d_q^f is a f_q -derivation of X if d_q^f is an outside f_q -derivation of X . Further, we show that if f is the identity endomorphism of X and $d_q^f, d_q^{f'}$ are both outside (resp., inside) f_q -derivations of X , then the composition is an outside (resp., inside) f_q -derivation of X and consequently f_q -derivation. We conclude the section with a condition given on two f_q -derivations of X to get a commutative composition.

Definition 1. A G -algebra is a nonempty set X with a constant 0 and a binary operation $*$ satisfying the axioms:

- (1) $x * x = 0$,
- (2) $x * (x * y) = y$, for all x, y in X .

Proposition 2. *If $(X, *, 0)$ is a G-algebra, then the following conditions hold:*

- (1) $x * 0 = x,$
- (2) $0 * (0 * x) = x,$ for any $x \in X.$

Proposition 3. *Let $(X, *, 0)$ be a G-algebra. Then, the following conditions hold for any $x, y \in X:$*

- (1) $(x * (x * y)) * y = 0,$
- (2) $x * y = 0 \Rightarrow x = y,$
- (3) $0 * x = 0 * y \Rightarrow x = y.$

Definition 4. A G-algebra X satisfying $(x * y) * (z * u) = (x * z) * (y * u),$ for any x, y, z and $u \in X,$ is called a medial G-algebra.

Lemma 5. *If X is a medial G-algebra, then, for any $x, y, z \in X,$ the following axiom holds:*

$$(x * y) * z = (x * z) * y. \tag{1}$$

Theorem 6. *A G-algebra X is medial if and only if it satisfies the following conditions:*

- (1) $y * x = 0 * (x * y)$ for all $x, y \in X,$
- (2) $x * (y * z) = z * (y * x)$ for all $x, y, z \in X.$

2. Results

In this section we will introduce a new derivation of G-algebra motivated by [10, Definition 3.1]. We start by defining an endomorphism of G-algebra $X.$

Definition 7. Let X be a G-algebra and let f be a self-map of $X.$ One says that f is an endomorphism if

$$f(x * y) = f(x) * f(y), \quad \forall x, y \in X. \tag{2}$$

Throughout the paper, d_q^f is a self-map of G-algebra X defined by $d_q^f(x) = f(x) * q$ for all $x \in X, q \in X$ and f is an endomorphism self-map of X unless otherwise mentioned.

For elements x and y of a G-algebra $X,$ denote $x \wedge y$ by $y * (y * x).$ By considering that $x \wedge y = x$ in G-algebra, we redefine the notion of f_q -derivation in [10] to get the following definition.

Definition 8. A map d_q^f is called an outside f_q -derivation of X if

$$d_q^f(x * y) = f(x) * d_q^f(y), \quad \forall x, y \in X. \tag{3}$$

If the map d_q^f satisfies the following identity:

$$d_q^f(x * y) = d_q^f(x) * f(y), \quad \forall x, y \in X, \tag{4}$$

then the map is called an inside f_q -derivation of $X.$ If d_q^f is both an outside and inside f_q -derivation of $X,$ then d_q^f is a f_q -derivation of $X.$

TABLE 1

*	0	1	2
0	0	1	2
1	1	0	2
2	2	1	0

TABLE 2

x	0	0	0	1	1	1	2	2	2
y	0	1	2	0	1	2	0	1	2
$x * y$	0	1	2	1	0	2	2	1	0
$f(x * y)$	0	2	1	2	0	1	1	2	0
$d_0^f(x * y)$	0	2	1	2	0	1	1	2	0
$f(x)$	0	0	0	2	2	2	1	1	1
$d_0^f(x)$	0	0	0	2	2	2	1	1	1
$f(y)$	0	2	1	0	2	1	0	2	1
$d_0^f(y)$	0	2	1	0	2	1	0	2	1
$f(x) * d_0^f(y)$	0	2	1	2	0	1	1	2	0
$d_0^f(x) * f(y)$	0	2	1	2	0	1	1	2	0

TABLE 3

*	0	a	b	c
0	0	a	b	c
a	a	0	c	b
b	b	c	0	a
c	c	b	a	0

Remark 9. If d_q^f is f_q -derivation, then

$$d_q^f(x * y) = f(x) * d_q^f(y) = d_q^f(x) * f(y). \tag{5}$$

Example 10. Consider the G-algebra given by Cayley table (Table 1).

Define an endomorphism:

$$f : X \longrightarrow X, \quad \text{such that } x \longmapsto \begin{cases} 0 & \text{if } x = 0, \\ 2 & \text{if } x = 1, \\ 1 & \text{if } x = 2. \end{cases} \tag{6}$$

If $q = 0,$ then Table 2 shows that d_0^f is an outside and an inside f_q -derivation of $X.$ Hence, d_0^f is a f_q -derivation of $X.$

If we take $q = 2,$ then d_2^f is not an outside f_q -derivation of X or an inside f_q -derivation of X since $d_2^f(1 * 2) = 2$ while $f(1) * d_2^f(2) = 0$ and $d_2^f(1) * f(2) = 1.$

Example 11. Let $X = \{0, a, b, c\}.$ Consider the G-algebra given by Cayley table (Table 3).

Define an endomorphism:

$$f : X \longrightarrow X, \quad \text{such that } x \longmapsto \begin{cases} 0 & \text{if } x = 0, \\ b & \text{if } x = a, \\ a & \text{if } x = b, \\ c & \text{if } x = c. \end{cases} \quad (7)$$

It can be shown by direct calculation that d_q^f is f_q -derivation of X for all $q \in X$.

Proposition 12. For any G -algebra X , there exists at least one f_q -derivation of X , that is, the map d_0^f .

Proof. Let $q = 0$; then $d_0^f(x * y) = (f(x * y)) * 0 = (f(x) * f(y)) * 0 = f(x) * f(y)$ and $f(x) * d_0^f(y) = f(x) * (f(y) * 0) = f(x) * f(y)$. We also have $d_0^f(x) * f(y) = (f(x) * 0) * f(y) = f(x) * f(y)$. Hence, d_0^f is f_q -derivation of X . \square

Proposition 13. If X is an associative G -algebra, then d_q^f is an outside f_q -derivation of X , for all $q \in X$.

Proof. We have $d_q^f(x * y) = (f(x * y)) * q = (f(x) * f(y)) * q$ and $f(x) * d_q^f(y) = f(x) * (f(y) * q) = (f(x) * f(y)) * q$, as X is associative. Hence, d_q^f is an outside f_q -derivation of X . \square

Proposition 14. If X is a medial G -algebra, then d_q^f is an inside f_q -derivation of X , for all $q \in X$.

Proof. Since $d_q^f(x * y) = f(x * y) * q = (f(x) * f(y)) * q$ and $d_q^f(x) * f(y) = (f(x) * q) * f(y) = (f(x) * f(y)) * q$, as X is medial, therefore, d_q^f is an inside f_q -derivation of X . \square

The next theorem follows from Propositions 13 and 14.

Theorem 15. Let X be an associative medial G -algebra; then d_q^f is a f_q -derivation of X , for all $q \in X$.

Next we provide an alternative proof of Theorem 15.

Theorem 16. Let X be an associative medial G -algebra. Then, d_q^f is both an outside f_q -derivation of X and an inside f_q -derivation of X for any $q \in X$.

Proof. Let $x, y, q \in X$. Then, on one hand, we have

$$\begin{aligned} d_q^f(x * y) &= f(x * y) * q \\ &= ((f(x) * f(y)) * q) * 0 \\ &= ((f(x) * q) * f(y)) * 0 \\ &= ((f(x) * q) * f(y)) \\ &\quad * (((f(x) * q) * f(y)) * ((f(x) * q) * f(y))) \end{aligned}$$

$$\begin{aligned} &= (d_q^f(x) * f(y)) \\ &\quad * ((d_q^f(x) * f(y)) * ((f(x) * f(y)) * q)) \\ &= (d_q^f(x) * f(y)) \\ &\quad * ((d_q^f(x) * f(y)) * (f(x) * (f(y) * q))) \\ &= (d_q^f(x) * f(y)) \\ &\quad * ((d_q^f(x) * f(y)) * (f(x) * d_q^f(y))) \\ &= f(x) * d_q^f(y), \quad \text{as } y * (y * x) = x. \end{aligned}$$

(8)

By Definition 8, d_q^f is an outside f_q -derivation of X . On the other hand,

$$\begin{aligned} d_q^f(x * y) &= f(x * y) * q = (f(x * y) * q) * 0 \\ &= (f(x * y) * q) \\ &\quad * ((f(x * y) * q) * (f(x * y) * q)) \\ &= ((f(x) * f(y)) * q) \\ &\quad * (((f(x) * f(y)) * q) * ((f(x) * f(y)) * q)) \\ &= (f(x) * (f(y) * q)) \\ &\quad * ((f(x) * (f(y) * q)) * ((f(x) * q) * f(y))) \\ &= (f(x) * d_q^f(y)) \\ &\quad * ((f(x) * d_q^f(y)) * (d_q^f(x) * f(y))) \\ &= d_q^f(x) * f(y). \end{aligned} \quad (9)$$

Therefore, d_q^f is an inside f_q -derivation of X . \square

Using Proposition 3(2), we get the following.

Proposition 17. If d_q^f is an outside (resp., inside) f_q -derivation of X , then $d_q^f(0) = f(x) * d_q^f(x), \forall x \in X$ (resp., $d_q^f(0) = d_q^f(x) * f(x), \forall x \in X$).

Proof. It is obvious. \square

Theorem 18. Let X be a medial G -algebra. If d_q^f is an outside f_q -derivation of X , then d_q^f is a f_q -derivation of X .

Proof. From Proposition 14, we know that d_q^f is an inside f_q -derivation of X . Thus, d_q^f is a f_q -derivation of X . \square

Definition 19. A map d_q^f is said to be regular if $d_q^f(0) = 0$.

Proposition 20. Let d_q^f be a f_q -derivation of X . If either $f(x) * d_q^f(y) = 0$ or $d_q^f(x) * f(y) = 0$, then d_q^f is a regular derivation.

Proof. Since d_q^f is a f_q -derivation, we have $d_q^f(x * y) = f(x) * d_q^f(y) + d_q^f(x) * f(y)$. Consider that $f(x) * d_q^f(y) = 0$; then $d_q^f(0) = d_q^f(x * x) = f(x) * d_q^f(x) = 0$. Similarly, if $d_q^f(x) * f(y) = 0$, we have $d_q^f(0) = d_q^f(x * x) = d_q^f(x) * f(x) = 0$. This proves that d_q^f is a regular derivation. \square

Proposition 21. Let d_q^f be a regular f_q -derivation of X ; then $d_q^f(x) = f(x), \forall x \in X$.

Proof. Since d_q^f is a regular f_q -derivation of X , then $d_q^f(0) = 0$. So $d_q^f(0) = d_q^f(x * x) = d_q^f(x) * f(x) = 0$. Therefore, $d_q^f(x) = f(x)$ from Proposition 3(2). \square

Definition 22. Let X be a G -algebra and let $d_q^f, d_q^{f'}$ be two self-maps of X . Define $d_q^f \circ d_q^{f'} : X \rightarrow X$ by

$$(d_q^f \circ d_q^{f'})(x) = d_q^f(d_q^{f'}(x)) \quad \forall x \in X. \quad (10)$$

Proposition 23. Let X be a G -algebra and let f be the identity endomorphism of X . If $d_q^f, d_q^{f'}$ are outside f_q -derivations of X , then $d_q^f \circ d_q^{f'}$ is also an outside f_q -derivation.

Proof. Consider the element $x * y$. Then $(d_q^f \circ d_q^{f'})(x * y) = d_q^f(d_q^{f'}(x * y))$. As $d_q^{f'}$ and d_q^f are outside f_q -derivations, we have $d_q^f(d_q^{f'}(x * y)) = d_q^f(f(x) * d_q^{f'}(y)) = f(x) * (d_q^f \circ d_q^{f'})(y)$. Thus, $d_q^f \circ d_q^{f'}$ is an outside f_q -derivation. \square

Similarly, we can prove the following proposition.

Proposition 24. For a G -algebra X , let f be the identity endomorphism of X . If $d_q^f, d_q^{f'}$ are inside f_q -derivations of X , then $d_q^f \circ d_q^{f'}$ is also an inside f_q -derivation.

Combining Proposition 23 and Proposition 24 we have the following theorem.

Theorem 25. Let X be a G -algebra and let f be the identity endomorphism of X . If $d_q^f, d_q^{f'}$ are both outside (resp., inside) f_q -derivations of X , then the composition is an outside (resp., inside) f_q -derivation of X .

Proposition 26. Let X be a G -algebra and let $d_q^f, d_q^{f'}$ be f_q -derivations of X such that $d_q^f \circ f = f \circ d_q^f$ and $d_q^{f'} \circ f = f \circ d_q^{f'}$; then $d_q^f \circ d_q^{f'} = d_q^{f'} \circ d_q^f$.

Proof. Consider d_q^f as an outside f_q -derivation of X and $d_q^{f'}$ as an inside f_q -derivation of X ; then for all $x, y \in X$ we have

$$\begin{aligned} (d_q^f \circ d_q^{f'})(x * y) &= d_q^f(d_q^{f'}(x * y)) \\ &= d_q^f(f(x) * d_q^{f'}(y)) \end{aligned}$$

$$\begin{aligned} &= d_q^f(f(x)) * f(d_q^{f'}(y)) \\ &= (d_q^f \circ f)(x) * (f \circ d_q^{f'})(y). \end{aligned} \quad (11)$$

On the other hand,

$$\begin{aligned} (d_q^{f'} \circ d_q^f)(x * y) &= d_q^{f'}(d_q^f(x * y)) \\ &= d_q^{f'}(d_q^f(x) * f(y)) \\ &= f(d_q^f(x)) * d_q^{f'}(f(y)) \\ &= (f \circ d_q^f)(x) * (d_q^{f'} \circ f)(y) \\ &= (d_q^{f'} \circ f)(x) * (f \circ d_q^f)(y). \end{aligned} \quad (12)$$

From (11) and (12), we can see that $(d_q^f \circ d_q^{f'})(x * y) = (d_q^{f'} \circ d_q^f)(x * y)$. By putting $y = 0$, we get

$$(d_q^f \circ d_q^{f'})(x) = (d_q^{f'} \circ d_q^f)(x). \quad (13)$$

Hence, $d_q^f \circ d_q^{f'} = d_q^{f'} \circ d_q^f$. \square

3. Conclusion

In this paper, the notion of f_q -derivation of G -algebra is introduced and some related properties are investigated. The main results are Theorems 15 and 18 where we show that a self-map d_q^f of a G -algebra is f_q -derivation if G -algebra satisfies some properties. In Theorem 25, we show that in G -algebra the composition of two f_q -derivations of X is f_q -derivation if f is identity endomorphism of X . Moreover, we give in Proposition 26 a condition on two f_q -derivations of X to get a commutative composition.

Competing Interests

The author declares that there are no competing interests regarding the publication of this paper.

References

- [1] H. A. Abujabal and N. O. Al-Shehri, "Some results on derivations of BCI-algebras," *The Journal of Natural Sciences and Mathematics*, vol. 46, no. 1-2, pp. 13–19, 2006.
- [2] C. Prabpayak and U. Leerawat, "On derivations of BCC-algebras," *Kasetsart Journal*, vol. 43, no. 2, pp. 398–401, 2009.
- [3] N. O. Al-Shehri, "Derivations of B-algebras," *Journal of King Abdulaziz University-Science*, vol. 22, no. 1, pp. 71–83, 2010.
- [4] Y. B. Jun and X. L. Xin, "On derivations of BCI-algebras," *Information Sciences*, vol. 159, no. 3-4, pp. 167–176, 2004.
- [5] H. A. S. Abujabal and N. O. Al-Shehri, "On left derivations of BCI-algebras," *Soochow Journal of Mathematics*, vol. 33, no. 3, pp. 435–444, 2007.
- [6] J. Zhan and Y. L. Liu, "On f -derivations of BCI-algebras," *International Journal of Mathematics and Mathematical Sciences*, no. 11, pp. 1675–1684, 2005.

- [7] M. A. Javed and M. Aslam, "A note on f-derivations of BCI-algebras," *Communications of the Korean Mathematical Society*, vol. 24, no. 3, pp. 321–331, 2009.
- [8] G. Muhiuddin and A. M. Al-Roqi, "On (α, β) -derivations in BCI-algebras," *Discrete Dynamics in Nature and Society*, vol. 2012, Article ID 403209, 11 pages, 2012.
- [9] G. Muhiuddin and A. M. Al-Roqi, "On t-derivations of BCI-algebras," *Abstract and Applied Analysis*, vol. 2012, Article ID 872784, 12 pages, 2012.
- [10] K. J. Lee, "A new kind of derivations in BCI-algebras," *Applied Mathematical Sciences*, vol. 7, no. 84, pp. 4185–4194, 2013.
- [11] R. K. Bandru and N. Rafii, "On G-algebras," *Scientia Magna*, vol. 8, no. 3, pp. 1–7, 2012.



Hindawi

Submit your manuscripts at
<http://www.hindawi.com>

